Kahuho uhuru high school
Form 3 mathematics

Tune up exam .term 2.year 2011

Time 2.30hrs

Section 1 (50marks)

Answer all the questions in this section.

Without using a calculator find the reciprocal of 0.342. hence evaluate 0.0625
√0.342










Factorise    a-b
Hence find the exact value of

Two sides of a triangle are 5cm each and the angle between them is 120. Calculate the area of the triangle.
Solve for x in the equation 

32*8=64/2

In the figure below <abc=30 <acb=<adc=90,AD=4/3AD=4/3*3, DC=4cm.calculate the length of 

(a) AC

(b) BC

The cost of 5 skirts and 3 blouses is shs 1750. Mueni bought three of the skirts and one of the blouses for shs 850. Find the cost of each item.

The mean age of 15 boys in a class is 19 years. On a day when one of the boys was absent , the rest gave their ages as follows:

20,22,16,18,17,21,18,20,17,18,19,20,19,21.

Find the age of the absent boy.

Find the value of x that satisfies the equation

Log(2x-11)-log2=log3-logx

In the figure below, o is the centre of the circle. Angle BAC=50 and angle ABO=20. Determine the size of angleACB.

Mr Ngeny borrowed shs 560000 from a bank to buy a piece of land. He was required to repay the loan with simple interest for a period of 48 months .The repayment amounted to shs 21000 per month. Calculate 
(a)the interes t paid to the bank

(b) the rate per annum of the simple interest

Simplify as far as possible, leaving your answer in the form of a surd.
Find all the integral values of x which satisfy the inequalities

2(2-x)<4x-9<x+11

Shopping centres x, y and z are such that y is 12km south of x and z is 15km from x. z is on a bearing of 330 from y. calculate the bearing of z from x.

The length and breadth of a rectangular paper were measured to the nearest centimeter and found to be 18cm and 12cm respectively.find the percentage error in its perimeter

A tailor intends to buy a sewing machine which costs shs 48000. He borrowsthe money from a bank. The loan has to be repaid at the end of the second year. The bank charges an interest at the rate of 24 per annum compounded half-yearly. Calculate the total amount payable to the bank.
The sides of a square are decreased by 5 .by what percentage is the area decreased

Section 2  (50 marks)

Answer all the questions in this section 

Draw the graph of the function  y=2x2+6x-5  by taking the values of x in the range -4<x<3
Use your graph to solve the following equations 

(i)2x2+6x-5=0

(ii) 2x2-x-6=0

The table below shows income tax rates 

A company employee earns a monthly basic salary of kshs 30000 and is also given taxable allowances amounting to kshs 10480.

(a) Calculate the total income tax.

(b) The employee is entitled to a personal tax relief of kshs 1056 per month. Determine the net tax.
(c) If the employee received a 50  increase in his total income, calculate the corresponding percentage increase on the income tax.
A triangular plot ABC is such that AB=36m, BC=40m and AC=42m. 

(a) Calculate the: (i) area of the plot in square metres

(ii) acute angle between the edges AB and BC

(b) A water tap is to be installed inside the plot such that the tap is equidistant from each of the vertices A,B and C. calculate the distance of the tap from vertex A.

A cylindrical mcan has a hemispherical cap. The cylinder and the hemisphere are of radius 3.5cm. the cylindrical part is 20cm tall. Taking pi to be 22/7, calculate
(a) The area of the circular base

(b)  The area of the curved cylindrical surface
(c) The area of the curved hemispherical surface

(d)  The total surface area 

(e) The volume of the can.
